
Page 1 of 3 

 

      

Benchwright  TV Stand 
Assembly Instructions 

 

IMPORTANT SAFETY INSTRUCTIONS� 
• The top shelf of this cart/stand is intended for use with: 

� Flat screen televisions having a maximum screen size of 45 inches and weigh of 100 lbs; or Tube 

televisions having a maximum screen size of 16 inches and weight of 35 lbs. 

� All other support shelves should not be loaded more than 25 lbs. 

�   DO NOT EXCEED RECOMMENDED LOAD. Use with products heavier than the maximum sizes and weights 

indicated may result in instability causing possible injury. 

� This unit contains a permanent sticker located either beneath the top shelf or inside the cabinet. 

� Do not allow children under 16 years old to move cart. 

� Warning: INSTALLING A TIP KIT IS STRONGLY RECOMMENDED TO PREVENT INJURY FROM 

TIPPING FURNITURE. 

 

Pre-Assembly: 

• Please read all instructions before beginning assembly. 

• For your safety and convenience, assembly by two people is recommended. 

• Use the parts and hardware lists to identify and separate each of the components included. 

• Save all packing materials until assembly is complete to avoid the accidental discarding of smaller parts or 

hardware. 

 

TOOLS:

 
                                          

(1) Allen Key 5/16 "                                                                   (1) Wrench 5/16" 

 

PARTS:  

                                                 
             

          (3)  Shelf  – A                                             (2)  Leg Frame - B (2)  Bar - C 

                                                                   

  HARDWARE: 

 

                                                                                                                                                    
 

(18) Long Bolts (5/16”Dia*1-3/8”L) -a   (5) Short Bolts (5/16”Dia* 5/8”) –b        (1) Nuts (5/16"Dia) -c 

                                                                                       
 

(23)  Spring Washers (5/16"Dia) –d               (24) Flat Washers (5/16"Dia) -e  

 

Assembly Instructions:  

1. Carefully lay leg frame (B) side on a carpet or scratch-free surface.  Make sure the predrilled holes on the leg frame side 

face upward for attaching bars.   See Figure 1. 

2. Align the pre-inserted nut on the back of shelf (A) with the predrilled hole on the stretcher of leg frame (B), insert long bolt 

(a), with spring washer (d) and flat washer (e) through the predrilled hole on the stretcher of leg frame (B) into the pre-

inserted nut on the back of shelf (A), tighten the bolts securely with the Allen wrench (see Figure 1), repeat this step for the 

remaining shelves (A).  See below Diagram.  



Page 2 of 3 

 

 
 

 

3. Loosely attach two bars (C) together using one short bolt (b), one nut (c), one spring washer (d) and two flat washers (e) as 

shown in Figure 2.   

 C

 b

 d

 e

 c

e

 
4. Loosely attach the assembled“X”bars (C) to leg frame (B) using short bolt (b), spring washer (d) and flat washer (e) as 

shown in Figure 3.  

 
5. Grip the assembled bookcase firmly at each end and turn the assembled bookcase to an upright position.  Make sure each the 

bookcase sits firmly on the ground, then tighten all bolts and nuts securely, but do not over tighten the bolts & nuts.  See 

Figure 4. 

Figure 1 

Allen 

key Stretcher of leg frame 

C 

Figure 2 

Allen 

key 

Figure 3 

Wrench 

The predrilled 

hole for 

attaching bars 

Allen 

key 



Page 3 of 3 

 

 
6. Assembly is complete. 

 

Care Instructions: 

• Dust with a clean, soft damp cloth and wipe dry immediately. 

• Avoid the use of chemicals and harsh cleaning agents. 

 

Thank you for your purchase. 
stores  |  catalog  |  www.potterybarn.com 

   
 

Diagram 4 


